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Candidates are required to give their answers in their
‘ own words as far as practicable.

: Mlustrate the answers wherever necessary.

1. Answer any two questions : ' . 2x15

;‘ (a) Distinguish between the Hicks approach and the
‘ Slutsky approach relating to the decomposition of

price effect into income and substitution effect. Which
10+5

one is better approach and why ?

(Turn Quer)



[

(b) Define expansion path of a firm. Is there any relation
between expansion path and leng run total cost of
production ? Show that all ridge lines are expansion
path. 2+8+5

(c) Explain how equilibriurm of a firm and industry under
perfect competition is arrived in the short run as well

as in the long run. 44+3+4+4

(d) In terms of the simple Keynesian model discuss the
condition for determination of equilibrium national
income. Hence discuss how naticnal income moves
from one equilibrium level to another following a size

in autonomous expenditure. 10+5

(e} What do you mean by suppiy of money ? Examine the
effect of an increase in money supply in the IS-LM

model. 5+10
(0 What is acceleration principle? Show how the

interaction between the muitiplier and acceleration

may generate a business cycle, 5+10
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2. Answer any five questions : 5x8

(8}

(0)

Use a suitabie model to explain backward lending
labour supply curve. 8

Discues the relation between price elasticity of

demand and total expenditure. _ 8

Do you agree with the view that since the long-run
average cosf curve shows the minimum unit cost of
production of every feasible level of output, hence it
should be the locus of the mimimum points of all
short-run average cost curves ? Justify you answer.

8

Is there any supply curve under monopoly. Prove that
a monopolist will never in equilibrium, produce on the

inelastic part of his demand curve. 4+4

Point out the limitations of using GNP as an index

of welfare measure. : 8

Discuss the main factors other than income, which

might determine a household’s consumption

. expenditure. 3
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(e) Discuss the classical quantity theory of money and

point out its limitations. 8
(h) Draw LM curve and explain its shape and different

parts, 7 8

3. Answer any five questions : ' 5x4
(a) “Giffen good must be inferior good”. EXplam 4

(b) Explain why two indifferent curves cannot intersect.

4
(c) Why AFC curve becomes rectangular hyperbola ? 4

(d) Show that constant returns to scale will imply
diminishing returns to a factor. 4

(e} Can a perfectly competitive firm maximize profit by
operating on the downward sloping portion of its MC
curve ? : 4

{f) Explain the concept of Paradox of thrift’, 4

(8} Show that the value of balanced budget multiplier will
be unity under lump-sum taxation. 49
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(h} Explain the concept of ‘liquidity trap’. 4

- [Internal Assessment — 10 Marks ]
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